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No. of Quiestions/svi i s : 180
Time :2 Hows Full Marks : 450
w ; 2992) [qui® ; 450
Instruction :
e s

This paper consists of Objective Type Questions and is divided into Two
Sections (1 & II) as under : ,

aE -3 TR e w i § w2 avst (1 & 1), S o afia
Q,ﬁﬁ‘lﬁi%: .

(a) Section-1 : Consists of 120 Objective Type Questions on General
. Awareness, Mental Ability, Comprehension and Subject Awareness in
some major subjects.
wvE-1 : # 120 Fgfeeda R IME 39, THR T 9 39 g
o] & 3= e st § |

(b) Section-II : Consists of 30 Objective Type Questions on (f) English
Language and (I} Hindi Language.
wvg-11 : § 30 sgfiwedia v (1) sl s ok ) e s & e w
FEnTE & | o

The candidaie is required to attempt as many questions as he/she can of
Section-1, and Questions on ANY ONE of the TWO Language papers (1)
English OR (1) Hindi in Section-I1.

seeff 3 srifi R o woe-1 % iftefis y@ oo woe-11 & (1) st ar
(1) Rt wrsr e 3 & Foefi v vy weltwirmer it |

(1) (Turn Over)
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Note : (i) Each question carries 3 (Three) marks. One mark will be deducted
for each incorrect answer. Zero mark will be awarded for each
unsttempted question.

T v 3 (fR) = w1 R | el e T & o ow et @
T | e AR Y S IEF 8 |

(i) If more than one aliernative answers seem to be approximate 1o the
correct answer. choose the closest one.

= wits Asfoas 7o oft 3 & Faoe wefa B, 91 Feremm vt am
g

(iii) Each question is followed by Four alternative answers (1), (2), (3) and
(4). One of these answers is correct. Select the correct and record it
against the relevant question in the ANSWER-SHEET by darkening
the circle with Ball Point Pen as per guidelines,
eI Wy % A 35fs s gar A § R (1), (2), (3) 99 (4) w5
& zta Ty R | T @ Sem O so @ w@ d | o I g o e
#¥%a i T-vfam 1§ dearadi wea % amd faan 3fe g (nem)

T HTR ETGUL U 2T FIeA Foh oITgY |

SECTION-I
@3-l

L. The AGMARK Actwas passedin

(1) 1937 (2) 1939 (3) 194) (4) 1953
o SR i g
(1) 1937 (2) 19394 (3) 1941 % (4) 19538

(2) (CG?HI'HHJ)
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2. Theoldest Indian language is
(1) Telugu (2) Hindi (3) Tamil (4) Punjabi

o Y v s
(1) ¥m (2) i (3) af= (4) gl

3. Bywhatnameis the Ganga known in Bangladesh ?
(I)Padma  (2) Bhagirathi  (3) Rupnarayan  (4) Nubra
ey % 7 fom A A e e # 7
(1) 5 (2) wnfieeft (3) wEET (4) =7

4. NNPisequal to

(1) GNP + depreciation (2) GNP — deprecistion
(3} GNP +exports (4) GNP - exports
o @ ot a g R
() HEN+H @) REd -
(3) @ + P (4) 0 @ i - forfn
5. Whendid p!anning first begin in India 7
(1) 1945 (2) 1948 3) 1951 (4) 1960
wreererd 3 o (3o ) et s rogen 4 -
() 19458 QBT ) e d @ 1960 %
(3)

(Tuirn Gver)
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6.

The judges of the Supreme Court are appointed by

(1) Chief Justice (2) President
(3) Prime Minister (4) Lok Sabha
Feem =arer § e 6 fgfs & T

(1) W =i gr (2) wgaf g
(3) suwEt g (4) @ B G

Which State produces the largest quantity of Gold 7

(1) Himachal Pradesh (2) Assam

(3) Bihar (4) Karnataka

et 1roa e W e e e @ 7

(1) Fomrerer s (2) ¥

(3) fegm (4) FAle®

Which union territory has the highest literacy rate ?

(1) Delhi (2) Chandigarh

(3) Pondichery (4) Dadra and Nagar Haveli
Rem s st & # wepcet ) sfmmr 7

(1) R (2) wwdme

(3) TER (4) < AR

(4} (Contined)
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Bones are mainly made up of

(1) Calciumand Phosphorus: - (2) Calcium and Stiphur
(3) Calciumand Magpesium  (4) Calcitim and fron
wfiyal gmy a A w At €

(1) &fFtam o Sfefrm 2 (2) Hm o v &
(3) & w it @ (4) ¥aw @ v @

10. Thelndian space programme began in the year

(1) 1961 (2) 1962 (3) 1963 (4) 1971
Wl arite SRl ey g oy :
(1) 1961 & (2) 1962 & (3) 1965 & (4) 1971 &

11. Whenwas Lord Buddha born ?

12.

(1) 586 BC (2) 1000 BC (3) 560 BC (4) 750 BC
WEM G 1 9+H &9 a1 ¢
(1) 586 BCH®  (2) 1000BC#  (3) $60BCH {4) 750 BC %

The book 'Gita Rahasyz' was written by

(1) Bal Gangadhar Tilak (2) Rabindranath Tagore
(3) Jayev (4) Munhi Premohand
s i Teem R .
(1) &t e, foreres g (2) ez R g

(3) Sl gRr ) =g

(5) B Over)
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13.

14,

15,

16,

The fundamental duties were added to our constitution for the first time 1n

(1) 1974 (2) 1975 (3) 1976 ' (4) 1977
Tt v ¥ it wdst gl T s =
(1) 1974 § (2) 1975 4 (3) 1976 % (4) 1977 #

The National Emblem was adopted by the Government of India on

(1) lanuary 26, 1950 (2) August 15, 1947
(3) August 15, 1950 (4) July 12, 1947
WITE TR g TER wiies 39 mar

(1) s==dt 26, 1950 = (2) a7 1S, 1947 @
(3) s 15, 1950 = (4) ewd 12, 1947 &t

A watch reads 4:30. Tf the minute hand points East, in what direction will the
hour hand point ?

(1) North (2) Narth-West
(3) South-East (4) North-East

o v 8 4:30 7 § ) 7R e f gd o o i $fe et 2, 9w g e
R = ¥ =t ?

(1) I (2) Fw-ufrm
(3) gftm-d (4) sm-d

One morning Rama was standing and her shadow fell at her Jeft. In which
direction her face was 7

(1) East (2) West (3) North (4) South
e R T w oft ue Faht B w@ A TE @ | e e fem i ¢
(1) (2) wfFm (3) IW (4) ziew

(6) (Continued)
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18.

19.

20.

21,

1TUNL328 (1)

Aruna ranks 12th in g class of 46 students, What will be het rank from the
last? .

(1) 32 (2) 35 (3) 34 (4) None of these
3 46 Bl B S A 128 T v ¥ ) AR § sw SE-a e g 7
(1) 32 (2) 35 (3) 34 (4) vl & wf ot

A family consists of » husband and wife, their three sons and two daughters,
three wives of three sons. How many females are in this family ?

(1)5 (2) 6 3) 7 (4) Nong of these

o afar & 9l o ooll, W f R e & A, 6 R R A ot o
& | T oftaw F wident fewht § 7

(1) 5 (2) 6 (3) 7 (4) v & B 79

In 1/2 hour, the long hand of a ¢lock rotate through an angle of —
A w e RN eH gt — ¥R R

(1) 9g° 2) 1200 (3) 75° (4) 180°
‘Bank' s related to"Moncy', in the same way “Tragsport ig related to

(1) Movement  (2) Road (3) Traffic (4) Goods
¥ waFm & g }, w0 ven Raw waT f

() nfx & (2) we® & (3) s 4) W=
Which of the following is not & leap year 7

Prerffias & A FF-m stu-ad 2 7
(1) 707 (2) 80D (3) 1200 (4) 2000

(N (Tern Over)
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22.

2\

i4.

25.

16,

27,

Find out the odd one from the following

(1) Indigo (2) Orange (3) Yeilow {4) Pink
Arefirfigs ® A fisy +t 9aard
(1) e (2) eft (3) diem (4) TEmR

GO =32, SHE =49, then SOME will be ?
IR GO=32, SHE =49 %, & SOME &m

(1) 62 (2) 64 (3) 56 {4) 58

1.12.91 is the first Sunday. Which is the fourth Tuesday of December 917
1.12.91 % v vagr & | Rmn 91 & 8 drwEn 5 w1 qm 7

() 17.12.91 (2) 24.12.91 (3) 26.12.91 (4) 31.12.91

How many times from 4 pm to 10 pm the hands of a clock are at right angles ?
4pmﬁ lﬂpmmwﬁ%ﬁ%ﬁmﬁﬁﬂﬁﬁﬁ'ﬁ% ?

M.

(19 (2) 11 (3) 10 (4) 6
Find the missing letter series of the following ?
frerfafim o & sformwm 3R i w1 v el 7
BMX, DNW, FOU, ?
(1) HPT (2) HQT (3y GPS (4) GQ5

Find the missing word in place of sign (7)
Man : Biography : : Nation ; 7

(1) Leader (2) People (3) Nationality  (4) History
et 5% () ¥ T T SRRER g 6 9 A

et « Sl 2 W : 7
(1) 3@ (2) @ (3) W (4) s

(8} (Continued)
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28. If ; is changed with —and 4 with 8, which one of the following is true ?

29.

30.

31

-3l . oiaida den & — & 4, 89, W Paffe T E A-w et 7
(1) 6-8+4=] (2) 8-6+4=1
()4+8-2-6 (4) 4-8+4=3

Five pens and ten pencils topether cost Rs. 70 and the cost of a pen greater
than three times the cost of a pencil by 4. The cost of one pen is

(HRs. 10 = (2)Rs.8 (3) Rs. 6 (4) Rs.4.50

¥ %=y 10 e 1 3@ e %o 70 R 99 0 N9 W 0E, e LI H AN
TidatEsd TR E R

(1) %10 2) %8 B w6 - (&) %450

A person wants Rs. 5 and Rs, 10 note from the Bank. If he withdraw 30 notes
of Rs. 350, then number of notes of Rs. 1018
uh e & A 5w o 10w w0 A3 R luﬁasssﬂﬁ,a?rgra

50 e e & o 10 &9 ) e ) wew

(1) 10 (2) 15 (3) 20 {4) 23

The sum of twa numbers is 11 and the sum of their rénipmcal 18 L;” The
greater number 13

2wt & A 11 R 9 T Sgowar o 4 2- % iadiaemd
(1 7 24 (3) 8 4) 5
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3.

33

3.

A’ says 1o 'B' "If you give me Rs. 900, [ shall be twice as rich as you". 'B’
replies "If you give me Rs. 100, I shali be twice as rich as you". The amount of
‘Alls

(1) Rs. 1000 (2) Rs. 1050 (3} Rs. 1900 (4) Rs. 1100

‘A", 'B' S e @ R s gl 000+ R E A Rt orw o A gR e @ |
TR "R R 1000 10 R A G A R
KGR SR

{1} % 1000 (2} ¥ 1050 {3) % 1960 (4) % 11060

tn a Zoo, there are some Rats and Parrots, If their heads are 400 and logs are
000, then mumber of Rats is

e feifame o 98 SR A 0 9 & | AR 39 Rl Y e 400 R A A
g 1000 8, 7 et &) weg }

(1) 90 (2) 100 (3) 80 (4) 110

(.t* -y ]3 -1-(_.1:lr -~z )3 +{z’ —x’f

. - is
(x~ ) +ly=2) +{z-x)

The lowest term-of

. > —;;.")l+(.!ﬂ'z-f};+(z'3—x"]'1 - -
Rora S (=Y 4 (p=2)' +(z=2)’ t

(1) (x+») (p+2)(z+x) (2) (x+)) +(y+2) +(z+x)

(3) 3 0z 43

(1) (Continued)
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36.

3.
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The sum of 1,+5*_x’+2 i8
x+1  x¢3
T S ';"":*"5+I1+1 Cof ol
r+]  x+3
, 413417 4 +138417
1} —rr——
& x*+dx+3 2) +dx+3
& 432 4135417 2438 4+3x+7
O —= W e
The value of Jz + J2+j§ o 0
2+J2+J,2+mm W
13 (2) 2 (3) 4 {4) 22

For what value of ' the equation  4x’ -3px+9=0 hasreal roots
(1) p=4 (2 p<-4
(3) pz4 and p<-4 (4) p=14

' % i aW & R BT 4 —3prad0 mEERS @Y

(1) p24 2) p<-4
(3) p24 M ps-4 @) p=+4
(1)

(Turn Over)
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38.

34,

40,

41,

The length of the hypotenuse of a right-angled triangle exceeds the length of
the hase by 2 ¢m and exceeds twice the length of altitude by 1 cm. The length
of hypotenuse is

(1) 17 em (2} 16 cm (3) 15cm (4) 18 cm

forelt e Fe & wof ) e 3ed o R wEnd R 2 8o fl, A R A
o v ) T % g A 18 e sl & A ool ) wend @

(D178 (2) 168, (3) 158 1, (4) 188,

If aman walked 1 kmv/hir faster, he would have taken 10 mimites less lo covera
distance of 5 km. The original speed of walking is '

(1) 4 km/hr (2) 5 km/hr
(3) 6 km/hr (4) 4.5 km/hr

o st af 3k e ) M A ) B o/l e 31 T 5 B o 2 20
F 7 10 Fz 1 598 w9 T, ) 369 2eer e iy 2

(1) 4 fo oty e (2) 5 fq dlofmen
(3) 6 o o /52y (4) 4.5 fino W fuer

Ifsind +tanA=m, tan 4 -sin A =n then m? - n? is equal to
af* sind+tand=m, tand-sind=p WA mt - FNATFACEW

-+

(1 Jon (2) m+n 3) 4l 4y 2
The value of . sin(SG“ +E}ucos{4{}“ —E.-'} is
sin(S[}’ +9)—cos(4ﬂ“ -9) wae R

(430 (2) ! (3) -1 (4) 2
(12} {Continued)
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42. The compound interest on Rs. 24,000 compounded annually for 2 years at the

43.

4.

rate of 10% per annum is
(1) Rs. 5,000 (2) Rs. 5,020
(3) Rs, 5,040 {4) Rs. 5.060

24,000 ¥ =1 (0% S wa R WA 2 7l F wwaly 9 T dw 7
wate wr o o defm S d

(1) 5,000 53 (2) 5,020 ¥R
(3) 5,040 50 (#) 5.060 52
Plants adapted to survive in an environment with little water are known as
(1} Bryophytes (2) Pteridophytes
(3) Xerophytes (4) Halophytes
g v R AR i R R E 7
(1) T () FewER
(3) s (4) ¥hawE
Study of freshwater habitat is callled
(1) Ecology (2) Limnology
(3} Oceanography (4) Hydrology
e or B R I Mmoo ke am
(1) worrd L3 TerAieiiat
(3) SnfiREBER (4) w2
)
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45, Plants produce energy during

46.

47,

(1) Respiration (2) Photosynthesis
(3) Transpiration (4) Evaporation
del g i 1 e e Pz @ g d ¢

(1) =55 (2) S avem
(3) TreE (4) =ehe
Which one of the following phylum includes only marine animals 7
{1) Mollousca (2) Echinodermata
(3) Porifera {4} Cnidaria
Frliftmerm STy waugimadd 7

(1) Revet (2) AR

(3) WD (4) Tedfe
Which one of the following is a fish ?

(1) Starfish (2) Silverfish

(3) Devilfish (4) Catfish

o 3 1 T HEe B 7

(1) R e (2) P o

(3) 3 o @) %zfrm

(14) (Continved)
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Which of the following is not a method of water resource conservation ?

(1) Flood imrigation (2) Rainwater harvesting
(3) Dripirrigation - (4) Johed irrigation
PR ¥ R o ot s dew B RATTER 2

(1) g v @) wWwdw

(3) Tvewa fin (4) g firamd
Which of the following is not & secondary pollutant ?

(1) ME (2) Nitrogen dipxide
(3) Sulphuric acid (4) Sulphur dioxide
i X o R g iR ?

(1) i | (2) T ST
(3) svvgies e (4) "o TR
Which of the following is not a pollutant free energy source ?
(1) Sun (2) Wood

(3) Wind ~ (4) Hydropower,
Prfafian % 3 A% v 1% ot da @ 4 7

(1y o (2) sl

(3) & (4) wemis

(Ztarn Qver)
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51.

§2.

What is false about carbon dioxide regarding pollution ?
(1) It makes normal rain slightly acidic

(2) Portugal is the highest emitter of CO, in the world
(3} It is a primary pollutant

(4) The frozen solid form of CO, is known as Try lce'
SEel % wed # wda srgefiaass % fowa A w2 7
(1) wur=y waf =t ag o svhy == 30 R

(2) fow ¥ wimer waiftes CO, Imfila s @

(3) 77 < i wgue &

(4) €O, 3 Terlivg 3w "o = e B

Recently Delhi was threatened by an air poliution that affected the visibility
and breathing of the people. By which of the following was it caused ?

(1) Huge amount of household waste

{(2) Snwg
(3) Excess use of Air Conditioners

(4] Overflow of Sewer

rr & & R v A v @ wat f Rl e @ @i B e b
guifea 78 o | PofoRea A § ax fras g sam gl oft 7

(1) ey 52 ) Ay wrl
(2) T IET

(3) FROTHTH F1 SeAlrH I
(4} Teroe AT 1 JURETE
(16) (Continued)
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53. Which of the following countries is facmg the problem of negative growth

54,

mate of population ?

A Hungary
B, Ukeain
C. Somalia

Select the correct answer ;

(HA.BandC (2) AandB (3) Aand C (4) Only A
Preferfisra 36 # & St v s 3T T w1 EE R R 7
A &8

B. o=
C. e

TR R
()A,BaC (2) Ashn @3y AsleC (4) ¥ A

Which of the following statement is not correct ?

(1) 12 years are taken by world population to reach from 6 billion 10 7 billion
(2) 38.15.crore population was added in Indian population between 2001-2011
(3} Population growth rate of India was decline during decade of 1911-1921
(4) The share of ST population was 8.6% in Indian populationin 2011

Reieifia 4 9 i F9 7 T 2 7
() B AEem Wl 6 A & 7 A R A 12 a&aﬁé

(2) v e # ad 2001 & 2011 H 38,15 Hhwsiiiem s v 6
3) 1911-1921 #mi WA ) ;r—‘.- g k- R ;
{4}ﬂzouﬁammﬁﬂiﬁﬁﬂmﬁmﬂmﬂﬁﬁm

CE7)

{Turn Over)
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55. Which of the following was period of population explosion in India 7

7

i & & w7 W § e fiewz 6 ot f 7

{1) 1901-192] (2} 1921-1951 (3) 1951-1981 (4) 1931-2061

Who had written 'Population when unchecked increases in a geometrical
ratio. Subsistence increases only in an arithmetical ratio’ ?

(1) Warren S. Thompson (2) Frank W. Notestein
(3) ThomasRobert Malthus (4) Karl Marx

ey e w1 “SdE we Rl 7 @ 0 sl s i e # | Fal e
FEFRE A g R 7

(1) R w&o AP0 (2) g, e
(3) =THH TR Hewd (4) et wred
Which of the following formula denotes natural growth of population 2
(1) Births-Deaths
(2) Births-Deaths + Inmigration—QOutmigration
(3) Deaths—Births + Inmigration
(4) Births-Deaths-Outmigration
frirfian A ¥ < o wrplrs SrRiem 9ig = A # 7
(1) ¥1-793
(2) TG + EE-TFH
(3) LT ¢ A
(4) -GS
(18) (Continued)
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Which of the following is the highest populated metropolis of India 7

(1) Mumbai (2) Delhi (3) Kolkata (4) Chemnai
R 3§ & 9% W o gaitye s Ien aEA R 7

(1) %=k (2) Rt (3) S (4) =g

Select the wrong statement

(1) The brightest planet is Venus
(2) Saturn has the longest day in the solar system
(3) Mars is known as Red planet |

(4) The largest planet is Jupiter

T Y7 YR

(1) % gag Soehie oe &

(2) dviza # w8 = Ra wad o o

(3) T ) S TR §

(4) ey wesd g e &

Select the incorrect statement

(1) Solar system is focated in the Orion Arm
(2) Solar system formed about 6,6 billion years ago
(3) Bris is a dwarf planet

(4) Sky is seen black from the space
e e g

(1) 8% woem e 3w § g $

(2) dR TvEet TR 6.6 Faftrors el uf
(3) ffawmdmaw

(4) sr=itom & sy e o v B

(193 (Furn Over)
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61.

b2.

Time taken by Earth for one rotation on its axis is
(1} 23 hrs 56 minutes 4.09 seconds

(2) 23 hrs 56 minutes 8.09 seconds

(3) 23 hrs 54 minutes 4.09 seconds

(4) 23 hrs 54 minutes 8,09 seconds

AT 2461 ) 06 9o & v et gron fern i gud B
(1) 23 a2 56 BT 4.09 8Fvs

(2) 23 99 56 firz 8.09 Hehvs

(3 23 9ee 54 P 4,09 TS

(4) 23 aw2 54 iz 8.09 &%z

Select the correct order of the planets according 1o descending number of
their natural satellites

(1) Jupiter, Saturn, Uranus
(2) Jupiter, Saturn, Neptune

(3) Saturn, Juptier, Uranus

(4) Jupiter, Uranus, Saturn

T8 T, IR NIHI0h I9TE! I vl wEm % srgEm wdt W g
(1) Fewte, i, s

(2) gt af, T

(3) TR, TEER, 3

{4) qeefa, wem,

(20} (Continued)
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The solar system, recently discovered by NASA where life may have evolved
on three planets, is named as

(1) TRAPPIST-1e (2) TRAPPIST-1f
(3) TRAPPIST-ig "~ (4) TRAPPIST-1

Hﬁﬁlimm&ﬁmﬁim,aﬁiﬁwﬁmw&mtﬁmﬂm
r d

(1) giee-14 (2) feR-1%

(3) afe-1h ) afie-1

The air in contact with the Earth rises vaﬂicﬂly on heating in the form of
currents and transmits the hea? of the stmosphers, This grocess is known as

(1) Advection  (2) Convection  (3) Conduction {(4) Ventilation

B & W i Ty T B UR % 9 W S0 3t # ol angHEe & Amne @)
srevifier Wt & 1 g v et &

(1) dimm = (2) T (3) I (4) v
Which of the following is the normal lapse rate at WHICH fe-wmyperature
decreases with height in troposphere ?

(1) 6 °C per 1000 meters (2) 6.5°C per 1N00 meters

(3) 7 °C per 1000 meters (4) 7.5 °C per [000 meters

Reaferfiaa & wwre vom gu e & R o Srwies A g & 9 o e
i

(1) 6°Cfa 1000 e (2) 6.5°CuR 1000 i
(3) 7°C 3 1000 et (4) 7.5°C R 1000 #
{21
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66. Which of the following regions of India receives rain by Western distur-

67.

68.

69,

bances ?

{1) North-West (2) South-West

(3) Western coast {4) Eastemn coast

v & Frafefan wét 4 @ fsg f offd R A ant et 2 7
(1) F-vfedm (2) afém-viem

(3) ofvenfi (4) i we

Which is not an ore of iron ?

(1) Hematite  (2) Limonite (3) Magnetite (4) Lignite
i o o s Al 7

¥ @ Rde  (3) Bow (4) formez
"Bailadilla’ is famous for the production of which of the following minerals ?

{1} Coal (2) Bauxite (3) Gold (4) Iron-ore
Yot TR i i S s s R g ? 7
(1) wren (2) stwrg (3) @ (4) =it =&

'Colar' is famous for which of the following econamic activities 7

(1} lron-steel industry (2) Copper Mining
(3) Wheat Production {4) Gold Mining
PR anidis el @ “Prem’ fea o afeg 2 7

(1) ehte-yem 3 3 foe (2) avar Ju & fe

(3) g e % (4) & @ & g
| (22) (Continued)
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70. Match nuclear power project with their State and select right answer

71.

(1) Tarapur-Rajasthan (2) Rawatbhats-Tamil Nadu

(3) Kalpakksm-Maharashtra {4) Kakarapara-Gujarat
mﬂ%ﬁ%ﬁaﬁa@%ﬁaﬁﬁﬁﬁﬁmgﬁi

(1) ST (2) TR
(3) w0 @ mﬂm
Rombay High'is famous for
(1) Thermal Power (2) Hyde! Power
(3) Petrolewm | 84)-Solar Power -
‘e e}
(1) e (2) g i
(3) Rfev (4) W
Which'of the following minerals is not found in Sundsrgarh (Odisha) 7
(1) Irom ore | (2) Bauxite
(3) M.unganme {4) Diamond ore
hnﬁr&aaﬁﬁﬁﬁﬁﬁqﬁdﬂﬁ(aﬁh{)‘ﬁﬁﬁwt ?
(1) o s (2) whurz

- (3) foelr -G e

(23)
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73. Rh factor is present in

4.

73.

76,

{1) Biood (2) Urine (3) Lymph
A uE Yaex figm 3§ g v 2
(1) (2) (3 ferms

Rods and Cones are the parts of

(1) Nose (2) Ear (3) Eye
{ga 5w fra =i % wm &
(1) 7= (2) ®F (3) =@

The upper chambers of heart are called

(1) Auricles (2) Ventricles (3) Arteries
B4 % H90 w41 B Fea 8

ysffeen (2) SRR (3) wefi

Bile 1s produced by

(1) Liver (2) Bile duct (3} Pancreas
firet 1 Jeare TR 3 g B R
(1) fea (2) w159 &% (3) afRar

(24)

{4) Saliva

(4) &R

(4) Throat

(4) e

(4} Veins

(4)

(4) Gall bladde

- (4) TR whE

(Cantinied)
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Which one of the following 1s the longest bone in the human body ?
{1) Femur (2) Tibia-fibula  (3) Humerus (4} Radius-uina

w0 vl el AR AR AR 7

(1) whe (2) Rften-Remen  (3) #pwa (4) Wezm-s=n
The structural and functional unit of nervous systemis

(1) Nephron  (2) Neuson 3) Dendron (4) Glomentlus
Y, 7 & TaAerh 9 R 1 &) w6 §

(1) 355 (2) W (3) A (4) wehvresra

Which one of the following 15 responsibie for bone and teeth formation ?
(1) VitaminA. ~ (2) VitmninB  (3) VittminC ¢4} VitaminD
B % 2w wn frerfva il o fe s ﬂmi’mi 7

(HFainy Q) Rafad Q) Rfrd @) Refed
Hemoglobin contajns

(1) Iron (2) Magnesium  (3) Copper (4) Aluminium

gt A P dd sy s & 7

(1) 3w (2) At (3) #iw 4) el

(25)
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81,

82,

83.

84.

Smoking may cause cancer of

(1) Lung (2) Liver (3) Skin (4) Kidney
IE & R s w SR 2 2

(1) ¥ (2) 79 (3) = {4) 7=
Which disease is diagnosed by widal test 7

() Cancer  (2) AIDS (3) Typhoid’ (4) Malasia
Hfraver ez g i Y WA g PR wmn 2 7 _
(1) F=m (2) w@ (3) TawEE: (4) v
Fertilization of ovum with sperm in human takes place in

(T) Cervix (2) Vagina

(3) Fallopian Tube (4) Uterus

sy 1 e & Y] 1 TR el B @ ¢

(1) whem (2)

(3) et o ) &=

I human gaseous exchange in lung occurs ihlﬂugh

(1) Alveoh (2) Air capillarigs

(3) Bronchia (4) Bronchioles

g & W A v ffv e WA R 7

(1) efemre (2) e

(3) st (4) Wi

(26) {Continued)
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Which one of the following is ot an endocrine disorder ?

(1) Diabetes  (2) Goilre (3) Gigantism (4) Scurvy
B & 4 O o wmweh Rer i @ 7

(1) s '{Z}IW (3) Rraieen (4) wdl

Reduced amount of hemoglobin in the blood leads to a disease known as

(1) Anemia (2) Leucopenta

(3) Lencocytosis (4) Erythrocytosis

T o e v Y e o e Rl e e

(1) e (2) TR

(3) TR (4) vl

Deficiency of which vitamin causes a disease, rickets 7

(1) VitaminC ~ (2) Vitamin D [3) Viamin A (47 Vitwain E
fro fefm R ed A fmimdmd 7

(hfefmd @) Re®ad () fefAg (4) Rz §

Which of the following organ is affected by Malaria ?

(1) Heart {Z) Tarig (3) Spleen (4) Kidney

By & w0 wn shy s g i B & e

(1) ¥ (2)-dwm- Gpbe— - (4)
T

{Tury Cher)
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89. The Foud for Work programme has been restructured as the
(1} IDLAD {2} IRDP (3) MFAL (4) NREP
RE B T5h HEGRT I GTed
(D) s flgaad, ) sdamdd, (3) wen®, () GFIAN
90. The main objective of providing a 'support price’, to wheat is to
(1) Check fall in price bevond a certain limit
(2} Protect the interest of the consumer
(3) Make procurement from wholesalers casy
(4) None of these
W T e e 0o O e ae
(1) T3 T @ o4 | MEE 6) 979 & [
(2) z9siven & fim & a9 F fom
(3) s =t @ S @ @0 3 ferg
(4) 7% & i
91, Chowk and Tribhagi positions characterise which dance form

(1) Bharatnatyam (2) Kathakali (3) Manipuri (4) Odissi

2 1d Frarh A foew -0 B dg R
(1) woEm (2) FeEE {3) wfergh (4) Afes

(28) (Continued)
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Siddhendra Yogi is associated with which dance form

(1) Odissi (2) Kuchipudi  (3) Kathak (4) Masipuri
R, it o -t A g

(1) e (2) Fgh (3) w9 (4) wfgd
Jatra theatre form belongs to which State

(1) Uttar Pradesh : (2) Odisha

(3) Madhya Pradesh (4) West Bengal

wew wed ) e e @ dug R

(1) swUsem (@ sifem

(3) 70 W (4) offe wm

Ravanachhaya is associated with which State

(1) Gujarat (2) Andtira Pradesh

(3) Odigha (4) Rajasthan

v frg s @ wEg B

(1) T (2) iR

(3) shfdm (4) T

How many World Heritage sites are there in Indja ?

et # e A i e £ 7

(1) 28 (2) 35 (3) 32 (4) 30

29 ‘
__{ ) Tien Over)
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96.

97.

uy.

The largest temple among the Khajuraho temples is

(1) Chausath- Yogini (2) Brahma
(3} Vishvanath (4) Kandariya Mahadev
wE & il § vad fawm Af @

(1) Soz-iird (2) &0

(3) Frgmy (4) F=gha wERd

The authorof Dhruvaswamini is

(1) Suryakant Tripathi Nirala (2) Mahadevi Verma

(3} Jaishankar Prasad (4) Sumitranandan Pan1
el & 9@
(1) gera B Fuen (2) waet =

(3) R (4) glEnT=a o4

I he author ol Truth is God' is

(13 Vivekananda {2) B, G Tilak

(3) Rabindranath Tagore (4) M. K. Gandhi
‘aga e & EF 8

(1) fedmre (2) Ho fo Tee

(3) T TR (4) T F, T

(307
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99. Who wrote 'Var de vira-vadipi varde......
(1) Ramdhari Singh Dinekar  (2) Harivansh Rai Bachchan
(3) Suryaksnta TripathiNirala  (4) Jaishankar Prasad
‘ot  dvmafedt av ... fead foen o
(1) T} i {2) wEwTE a=A
(3) e Bt froen (4) T YoR

100. Kanada was the founder of which philosophy

(1)Semkhya  (2) Nyaya (3) Mimamsa (4) Vaisesika
oz fory 2sla & wota &
(1) aig (2) =m (3) diwme (4) Ffes

101. The philosophy of Chaitanya is

(1) Shuddhadvaita (2) Visistadvaita
(3) Achintys-bhedsbhed (4} Advaita
dea w1 g 3

(1) gaiga (2) Rfrra
(3) sia-YgrR (4) *a

(30 (Turn Over)
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102. Who received the first Jnanapeeth Award

(1) Umashankar Joshi (2) Sumitranandan Pant
(3) Bishnu Dey (4) G Samkara Kurup
qo Jdfis g fe e @

(1) Femer h (2) g 74

(3) feg 3 (4) o v FE

103, Anekantavada is a basic concept of

(1) Buddhism  (2) Jainism (3) Sikhism (4) Vaisnavism

s Ty il & fifem smgrom

Hagw @ (3) fire i (4) #wa wt
104, Satyartha-Prakash was first published from

(1) Mumbai (2) Kotkata (3} Chennai {4) Varanasi

HeaTH - R Feter ] i

(1) 77 (2) @ierem (3) ¥4 (4) Ford
105. The lnternational Headgquarter of Theosophical Society is at

(1)Mumbai  (2) NewYork  (3) Adyar (4) New Deihi

Refe dreEd @ sy qear % B

(1) 7% (2) 37 @) sm@n (4 R

(32) (Cantin u;eru‘}
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106. During the Rig Vedic period which Arysn deity held the supreme position ?

(1) Varuna (2) Agni (3) Indra (4) Soma
e e i sl s e o el ) o o 7
Mm@ % (&) dm

107. Which dynisty in South India was famous for the construction of chariot
temples ?
(1) Chalukya - (2) Chala (3) Pallava (4) Pandya
e w%_ﬁmm% w-wfett & Fofor & sRfy waft 7
OTwm @9 3) w5 (4), S

108. Which of the following isin present day Gujarat ?
()Herappa  (2) Mohenjodaro  (3) Kalibangan (4 Lothal
ot § & B4 o o R 7
(1) wmr (2) MRS (3) efeE (4) e
109. Which of the following is the metallurgical wonder of the Gupta period ?

(1) Mehrauli Piflar (2) Mandsaur Piflse

(3) Kosambi Piflar (4) Sarnath Pillar

e 5 3 Wb iy g e @ 7

(1) ¥l = (2) W ey

(3) e T m-mm.a&t
(33)
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110. Which of the following is an ancient Indian Mathematician ?

(1)Charaka ~ (2) Panini (3) Aryebhatta  (4) Bharata
Frei & = W wrediy ofir & 7
(1) ¥ (2) sftrh (3) s (4) W

11, Which medicval ruler started the system of ' Patta' and 'Kabulivar ?
(1) Tltutmish (2) Mohammad bin Tughlag
(3) Shershah | (4) Akbar
P memaelis s 3 gy ol ‘s ) s it A o) 7
(1) s (2) wiewe o g
(3) Srame | (4) H®HaA |

112. Inwhich battle did Mohammad Ghauri defeat Jaychand 7

(1) Battle of Tarain (1191 A.D.)

(2) Battle of Tarain (1192 A.D.)
(3) Battle of Chandavar ({194 A.D.)

(4) Baitle of Kannauj (1194 A.1D)

wﬁﬂiwﬁﬁﬁiﬂg@ﬁmﬁﬁm 7

(1w F 3G (1191 %)
(2) mre #1 5g (1192 %)
(3) e % 33 (1194 1 )
(4) it %1 35 (1194 %)
(34) (Continued)
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113. Who estahlished Diwan-e-Aamir-e-Kohi 7

(1) Firuz Shah Tughlsq (2) Mohammad bin Tughlag
(3) Allanddin Khalji (4) Ghiyasuddin Tughlaq
S -u-arii-t-wndt St v e 6 7

(1) Rrtiorere e | (2) wre fir genk

(3) ameagR e (4) Frrgedi gremn

114. Battle of Chanderi was fought between whom ?
(1) Akbar and Malisrana Pratep  (2) Babar and Rana Sanga

(3) Babar and Mcdini Rai (4) Shershah and Hurnayun
%0 72 T e wdn '
(1) s iR SEW AN (2) s e T wim
(3) amr K #iE T (4) Wrwmg 3N T
11S. ‘Hamzanama' relates towhichof the following.
(1) Music (2) Painting
(3) Religious Literature~ - (4) Sufi Philosophy
‘v W1 ey e R
(1) ¥ & @) T3
(3) it e @) g

(35) (Turn Over)
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116. Nizamuddin Auliya is related to which of the following Sufi Silsila ?

(1) Chishi Silsila (2) Suharavardy Silsila
(3) Nagshbandi Silsila (4) Firdausi Silsila
Framgdia sitfem fie i & foe gt RefR 3 3 8 7

(1) Feedt fosfaan (2) gEEd Rafben
(3) TFead) Rt (4) P mfien

117, Winech Governor General introduced 'Doctrine of Lapse'?
(1) Lord William Bentinck (2) Lord Cornwallis
(3) Lord Dalhousie (4) T.ord Wellesely

wiftrgel faer ) Rfy (Doctrine of Lapse) 78 et seer 3 0w i 2

(1) oé faferam dfe= (2) wiE HaTem
(3) w7 et (4) @i et

118. Who is known as'Grand Old Man of India’' 7
(1) Lokmanya Tilak (2) Mahatma Gandhi
(3) Dadabhai Nauroji (4) Govind Ranade
‘aie & FEigg AW % AW 8 e amamm R
(1) Srerar=a forerh (2). e i)
(3) gy W A (4) T

(36) {(Continued)
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119. Which of the following relates to the War of Leipizig ?

(1) Secret treaty of Bismazck  (2) System of Metternich

(3) Unification of Ttaly (4) Napaleon Bonapartc
Rrafirt 1 g s Bt 3 8 Red 3 7
(ﬁﬁmﬁaﬁigwéﬁr% (2) ¥ha s
(3) et % whim 3 (4) ¥R drar #

120. ' The Praise of Folly s written by
{1) Michael Angelo - (2) Ersstus
(3) Thomas Moore (4) Bamn.
‘e R www’ (R 2 o wle) et w7

(1) R e (2) ywwg
(3) 2 T (4) ¥
¢37)
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SECTION—II
Language — English

Note : Four alternatives are given as possible answers to each question. Give the
correct choice as an answer

Directions (Q. Nos, 121-124) : Select the word nearest in meaning {0 the given

word,
121. Quote
(1) Torepeat  (2) Todiscuss  (3) Torefuse (4) Toexplain
122. Imposed
{1) Impatient (2) Immature
(3) Thrown (4) Thrust by force

123. Consent

(1} Casual (2) Agreement {(3) Givlr: (4) Carry out
124. Tension
(1) Discussion ~ (2) Talkative (3) Strain (4) Pull
Directions (Q. Nos. 125-128) ; Select the word opposite in meaning to the
given word.
125. Foolish
(1) Sane (2) Good (3) Dry (4) Sensible

(38) ' [Continued)
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126. Usual

(1) Extraordinary (2) Mad (3) Cunning (4) Clever
127. Complicated |

(1) Careless  (2) Simple (3) Strong (4) Tough
128. Energetic

(1) Lethargic  (2) Busy (3) Excited %) Bheit

Directions (Q. Nes. 129-132) : Select the correct meaning of the given idio-
matic expressions :

129. Have an axe togrind :
(1) Tohave an ulterior motive:
(2) Happy
(3) Optimist
{4) Modemn
130. Fire someane
(1) Kill someone

(2) Dismissing someone from a job

(3) Speed post
(4) Encourage someone

(39)
(Turn Over)



1707113128 (1)

131. Drop someone a line
(1) Create distance (2) Draw margins
(3) Tocall someone (4} To write to somecne
132. Blow your top
(1) To give tips (2) To lose vour lemper
(3) Tosweal (4) To change clothes

Directions (). Nos. 133-136) : Sclect the right word to fill in the blanks in the
given sentences ;

133. For better or - —— - he has decided to quit his job and go to live in Brazil.
(1) Best (2) Good (3) Worse (4) Bitter

134, Her grandfather is 92 years old buthe is as fitas a

(1) Fageot {2) Lion (3) Fat (4) Fiddle
135. He is going to have to face the soonet of [ater.
(1) Song (2) Music, {3) Anger (4) Flute
136. | thanked him from the bottom of my — - for helping my daughter
when she was sick.
(1) Feelings (2} Soul (3} Wishes (4) Heart

(40) (Continued)
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Directions (Q. Nos, 137-148) : Sclect ihe correct plural of the given word ;

137. Tooth

(1) Tooth's (2) Teeth (3) Tooths {4) Teethes
138. Half

(1) Halfs (2) Haves (3) Halves (4) Half’s
139, Loaf

(1) Loafs (2) Loaf's, (3) Loavs (4) Loaves

149, Phenomenon
(1) Phenomenons (2) Phenomena (3} Phenomientn's  (#) Pheommena

Directions (Q. Nos. 141-144) : Select the part of speech of the underlined word
in the given sentences. '

141, The thinnest notebook belongs to MadHiu,

(1) Noun {2 Advert (3) Adjective (4) Pronoun
142. She quickly decided (o write her paper.
(1) Adiective  (2) Noun (3) Verb (4) Adverb

143. 1 will tell you a story about a lion.

(1) Verb (2) Noun (3) Piepositoi  (4) Adjective

40 (T Over)
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144. How much money did they steal ?

(1) Determiner (2) Conjunction  (3) Preposition (4) Adverb
Directions (Q. Nos. 145-147) : Select the word which has been wrongly speit |
145. (1) Cattle {2} Determination (3) Courage (4) Nervos
146. (1) Adjustment  (2) Opportunity  (3) Horribel (4) Haven
147. (1) Dejected  (2) Deliricus (3) Delighted {4) Damnned

Directions (Q. Nos. 148-150) : Fill in the blanks with the correct word/group
of words :

148. 1 always keep — —money in my wallet for emergencies.

(1) Some (2) Few () Little ~ (4) Many
149. [ was studying Engligh ———yesterday.

(1) When you were ﬁa}lir;g (2) When you called

(3} Asyou called (4) While you called
150. [ would fly to Sydney if | —

(1) Has money (2) Having the money

(3) Have the money (4) Had the money

(42) (Continued)
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e+ A |t el % w-wn A g ol 8, el wh smoE e d | 9
ol IRt g '

181. 32 &< 2 ol W e 9ot om Ve
st & ¥ e, e Ba |

v Rl w1 TR A R 7

(1) G (2) Ao I8

(3) R (4) gewiem
152, oAt & St et e, o o R el A

it & wt TR W W R

(1) =R (2) TR (3) geret (4) g
153, Fuen S foreh W A v F | |

Wi, TR 3w, g1 g )

(1) Fergry (2) sl (3) ®m (4F v
154. 7 wiEa s @, w5 W |

foer U avga R, T w w0

afeart fermef) &

(1) Ffft (27 (3y W - (4}' i

- (43)
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155, “Yfas' wmagh 1 whRm w d 2

(1) et el (2) s i

Q) v (4) TR T
156. ‘e 51 R’ s -3 = s i 2 7

(1) shrere (2) (3) qeTE
157, s e en d 7

(1) P (2) ghEreA T (3) weRd
158. Hofimen’ e e 7

(1) et (2) WA A (3) e
159. ‘Tt F el B FEH FAEHE BN 7

(1) g (2) FegeeTe (3) R
160. &7 1643 2 1843 7% & 1a § P sm g s s } ?

(1yvReem (1) SO (3) v
161, ‘S’ 1w T AR F R 7

(1) s FA(2) el = () FIER W67

(44)

(4) e
(ﬂ_mimm
(4) T

(4) s af |
(4) Yo 7@

(4) gty

(Contined)



162. fr=1 3 & fsm wren a wiven afeney w 7

O (2) feedmwd  (3) AT
1&m-i%wnﬁmwm?

() e (2) v (3) e
164. v T v ra sm s sl 4

(1) SAERRR F@(2) MR ET  (3) wiEg
165, ‘#Rr’ we %1 wlt a1d g

(1) e (2) & @) =
166. ‘3@ 3 T’ —ar 3 TS W F = Doy

(1) e () 3= (3) Im

170/113/28 {1)

(4) WS

(4) WidgEanh

(4) W

(4) 9fEw

(4) P

167 REF e mrm ¥ — e gy

(1) #s (2) i (3) wivgen
168. ‘axiw’ w1 wuiward)
(1) ¥ e+ (2) et g
(3) wdf % wamdt 94l (4) |
{45)

(4) Thwwm

(Torn Over)
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169. DA F1 78 e w3 7

(1) % (2) v (3) @ (4) v
M. A= dn el Fima AR e

(1) 36 =x (2) W ¥R (3) SErET (4) 3 w1
171, ‘Foe’ & wiy forg @

MP+m QR+ (3) P + @) F «
172, v’ o af Rme e 2

(1) &M +%@  [2) 31 + 7" (3) 2@ + ™ (4) AT + 3

173, Z@ua rafs 79 37ea &9 srave |
=i 7R o e @R e )

T ey ThRedl 3 W T SR 7
(1) g (2) s (3) var (4) T

174, 38 1 AR 310 F T S 00 T |
Tl A W R AT B W T |

ey il § S FERY
(1) Fow (2) e (3) TR ROR &

(46) {Continued)



175, ‘T g o’ Amfe ol snd s d 7

(1) Frdx (2) wFRm (3) stva g

176. "ur Wi’ ek 0 wh ot w7

(1) sud TG T T (2) S

(3) Bk A7 @) &
177, Fr=feriten  apvm = %1 5@ fifig

(1) (2) b (3) 9
178, @978 & s dg B ¥ 7

(1) ot (2) ®: (3) =
179. fera F T mawm § ?

(1) W (2) R (3) weg
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